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Paper : Geography

Ques # :1

Bolsons are associated with -

1) Glacial topography

2) Karst topography

3) Arid topography

4) Running water resultant topography

ITIHT GFaAT § -

D feArefire Teremsia &

2) FIEE TYAFA

3) qrse TS

4) g8 EU ST & ScToed TYRATIT &

Ques # :2

Which one of the following zones of atmosphere contains ' Mother of pearl cloud' ?
1) Troposphere

2) Stratosphere

3) Ionosphere

4) Exosphere

IAVSH & AT # & FleT - F HIET A "FFATH AT T AT 2
1) &fer AUz

2) HdHAIY HYUsSe!

3) 3T FHUge

1) sfgAvza

Ques # :3

Which one of the following statements is not correct ?
1) Chinook blows in autumn

2) Bora blows in winter

3) Fohn blows in spring

4) Gibli blows in summer

frRRT AT s - aTFuT g 7E & 2
D) et acters & Terc &

2) IRT giéTt & Terar &

3) wigeT T8 T H TAME

1) Prae AfETT A g &

Ques # 4

Which one of the following humidity is expressed in grams of water vapour per kilogram (g/kg) of air ?
1) Absolute humidity

2) Specific humidity

3) Relative humidity



4) Optimum humidity

et 3 @ e W Y 31T Y e RraiameT arg F SreraTsT Y AT Y A (g/kg) H g A
SATATE 2

D et améar

2) fyfRrse 3méar

3) ArafER Mear

4) SteTEerds 3T

Ques # :5

Horse latitude lies in -

1) 40°-50° North and South latitudes
2) 25°-30° North and South latitudes
3) 30°-35° North and South latitudes
4) 45°-50° North and South latitudes

372 3reTier FReua § -

1) 400 - 50° 3w va gfarofr avatial #
2) 25°_30° 3edr va gfarolr Rt 7
3) 300 - 35° 3w va EfErolr et &
4) 450 500 3 va afErOl sl A

Ques # :6

In Koppen's climatic classification BWh stands for -
1) Cold mid-latitude desert

2) Hot low-latitude desert

3) Hot low-latitude steppe

4) Cold mid-latitude steppe

FIIT & STrarg FATHIor H BWh geifar g -
1) efra 71w - 3retielar AwEyer

2) 30T - et et ATEdoT

3) 3ot - fAeT reTieiT T

4) ofrg 71y - 3raTrela Ty

Ques # 7

Match List-1 with List-Il and select the correct answer
using the codes given below —

List-| List-If

(Climatic Type) (Region)

A Amw 1. Most parts of peninsular plateau

B. Aw 2. Interior parts of peninsula, western
slopes of Aravalis and part of Haryana

C. BShw 3. North Indian Plains

D.Cwg 4 Western coast of India south of Goa

1) A-4, B-3, C-2, D-1

2) A-2,B-1, C-4, D-3



3) A-2, B-3, C-4, D-1
4) A-4,B-1, C-2, D-3

TET - 1@ T - W AT ST g g § {9 R
BT FE FT T FT Tl I I

Tt - | Tl - I

(FFEg TFR) (&

A Amw 1 Ut T 98R &l HfERRr #Er

B.AW 2 UIIedTd &l Hled e 191, ATl &l
iSg#HT ETel 2T GIRATON &1 Hif9w &=

C.BShw 3. I HARAE Hg=

D.Cwg 4 F0ar & claroft & sTRa &1 9igg#r ac

1) A-4,B-3,C-2, D-1
2) A-2,B-1, C-4, D-3
3) A-2,B-3,C-4, D-1
4) A-4,B-1,C-2,D-3

Ques # :8

Assertion(A) - In the tropical zone the eastern shores of oceans are warmer than the western shores, while in
the temperate zone the western shores of oceans are warmer than the eastern shores. Reason(R) - The
temperature of these shores is influenced more by ocean currents and prevailing winds than the latitudes.

1) Both A and R are true and R is the correct explanation of A

2) Both A and R are true and R is not the correct explanation of A
3) A is true and R is false

4) A is false and R is true

FYT (A) - 30T Hiea=tr F AFEPRI & qdf de TR} et $i1 3rdam 31fts i wa 8, safF
gaAefasor Hieae #§ AFERRI & TREHT e gdf qeidr e 31w 79 A ] | FROT (R ) - 37 <
T ATIATE T&TTRAT T T ASTHERIT TRIHAT TUT Y=ford 9aail & A8 gofaa gare

D AR BEATEEE 3R, A 1 TE TTEaROT §

2) A AR R A T E e R , A FT L TTSEHOT AET &

) AT E g R AT §

D AT g g R T

Ques # :9

Match List-l with List-Il and select the cormrect answer
using the codes given below —

List-| List-lI
(Genetic Phases) (Resultant Tides)
A The sun and the moon are 1. Spring tide

at right angles with the earth
B. The sun, the moon and the 2. Neap tide
earth are in a straight line
C.The moon is nearest to the 3. Apogean tide
earth
D. The moon is farthest from 4 Perigean tide
the earth
1) A-2,B-1,C-4, D-3
2) A-1,B-2, C-3, D-4
3) A-3, B-4, C-1,D-2
4) A-4,B-3, C-2, D-1



T - | - 1S gEferd difsre gur JA fgr e
& T FET HT Hel It AT -

T - | T -l

(wgt #r S=fers uferm) (FRomer FEREET)
A. T4 3R Teee Qe & S W gES & fafd 7 1. 8" sar

B. ¥& , Jaem 3R qudt ven Wrlt war & R 2. @Y Sar”

C. JeAT gudr & gy fufa & 3. 3778 =R

D. <re#AT qud ¥ gy Fufd # 4. 398 SAR

1) A-2,B-1,C-4,D-3

2) A-1,B-2, C-3, D-4

3) A-3,B-4,C-1,D-2

4) A-4,B-3,C-2,D-1

Ques # :10

Humboldt current flows along :

1) Western coast of South America

2) Southwestern coast of South America
3) Western coast of Australia

4) Western coast of North America

gFalee YR YA e § -

1) afarof 3rRe & 9iegH de & ger

2) gfeyofty 3mRer & gfaior giREe e & Tgr
3) siteeforar & ufsd de & e

4) ZcalY 3R & IRTHT de & FeR

Ques # :11

The ecosystem functions through -

1) Energy flow and circulation of nutrients and minerals

2) Increasing interrelations between living organism and their environment
3) Integration of biotic and abiotic components of environment

4) Physico-chemical environment

uikfeufas a framefier grar @ -

1) 337 yarg d2r Qe dedl vd @iAeit & aREwRor & Aread &

2) S Fegt 3R 3o7h TTAROT & H1Y T U e deatl & HEAH |
3) TTaRoT & Sfaeh T 3 deh Tl & ThIhioT & JATeTH &

) 9l - e gafaoT & AreaA @

Ques # :12

Match List-1 with List-Il and select the correct answer
using the codes given below —

List-| List-II
(Country) (Grasslands)
A South Africa 1. Prairies
B. North America 2. Pampas
C. South America 3. Downs

D. Australia 4 Velds



1)  A-4,B-1,C-2,D-3
2)  A-3,B-2,C-1,D-4
3)  A-4,B-3,C-2,D-1
4)  A-1,B-3,C-2,D-4

el -l @ = - 1 & gafea fifse gur = 6 o
&E HT FAT F Tl IR JiAC -

T - | T - |l
(&am) (ar & #Aae)

A. Zf&or 3rhiERT 1. 9=
B. 3 3aRer 2. 9FaTT
C. cfarof 3afRer 3. si3eg
D. sireefeaT 4. go=g

1)  A-4,B-1,C-2,D-3

2) A-3, B-2, C-1, D-4

3)  A-4,B-3,C-2,D-1

4) A-1, B-3, C-2, D-4

Ques # :13

The correct succession of various trophic levels in.a natural food chain.is.-
1) Decomposers - omnivores - carnivores - herbivores - autotrophs
2) Autotrophs - herbivores - carnivores - omnivores - decomposers
3) Autotrophs - carnivores - omnivores - herbivores - decomposers
4) Herbivores - onmivores - decomposers - autotrophs - carnivores

T A IMER s[@en & RffeeT aor TR F1 7 ITHEAE -
D) 3rqeree - adendy - AR - eMERY - Tade
2) T - QMHTERY - ATHTERY - TIGRY - ITEeH
3) FaueY - ATEERY - HERY - 2ATRERY - TUeH
4) QERTERY - TAERY - ITTCH - TIANNT - AR

Ques # :14

A food web is -

1) A very long straight linked food chain

2) A moderate-sized food chain having many trophic levels
3) A circular food chain

4) A series of interwoven food chains

ITER ST -
1) uas el 2 3 37T et aTalT 1T TF oTFaT STl &
2) 31oTeh QYO TRTATelT Teh HET 3R FI SITel &

3) U g ST &
4)




3MER ST AT3HT T Teh 3ed: AU STTel &

Ques # :15

The concept of probabilism was given by -
1) O.H.K. Spate

2) Griffith Taylor

3) Carl Souer

4) Richard Hartshorne

YHFATSATE T HhoUsT Yfaurfed Hist arar & -
D st oas e

2) aftpar Tor

3) et AT’

4) s gréae

Ques # :16

Which Arab Geographer is known for divinding the world into 14 climatic regions ?
1) Al - magdisi

2) Al - beruni

3) Al - musudi

4) Al - idrisi

el - AT IR sENerdcal faed F1 14 STerary gt F fsirsrer & fAw Siwer sirar @ 2
D) 3rer - ARl

2) 37t - %l

3) 311 - TG

4) 3rer - sERE

Ques # :17

Who among the following scholars followed the teleological approach in the study of the earth ?
1) Alexander Von Humboldt

2) Carl Ritter

3) Immanuel Kant

4) Bernhard Varen (Varenius)

frrafaf@a # & fra Rgare @ gedt & sreawe & fore s2egardY 3urers i srqemar a1 2
1) srderaiust aiet graloe

2) 1ot X

3) g3 0T

4) FoTgls araT (aRfrz)

Ques # :18

Ratzel's work was based on the concept that -

1) There is a dichotomy between physical and cultural aspects of geography
2) Geography is a scientific discipline

3) Physical environment controlled human activities

4) Geography is necessarily descriptive

Yeoter &1 w1 3 § 59 hedsT I 9 -



1) 3Nl & Hifdeh 3 AR Tl & HET Teh gfaeimsiel ©
2) spaver Ueh Tfareh A

3) aiifae qaTaroT & Avera fRamsit o e fFar g

4) 87aleT 3TaRTH TI F JUATHS &

Ques # :19

Use of models in geography came into being -
1) After First World War

2) After 1920 decade

3) After 1930 decade

4) After Second World War

ST & UTTATAT T STANIT TRFST GI;T -
D) wrerar fea ge & wearq

2) 1920 E2reh & IR
3) 1930 &I & gRAT
4) gfaclra faa g & geaTd,

Ques # :20

The new geography of 1950s was characterised by emphasis on -
1) Empirical enquiry

2) Geographical aspects of social issues

3) Locational theory and use of quantitative methods and models
4) Human ecology

1950 . 3 G0 H s{cieT 3NNl I HTATETONS faQrwar it -

D) arreperfaes Sita oX a7

2) arefoes AT & st o galt ) ao

3) Turfgeor & fATeid ud ArTcAs At gur Afset & w2 W ae
4) AreTa IRTEUIHY 9T &l

Ques # :21

Which one of the scholars of pre-modern period clearly established the relationship between regional
geography and systematic geography ?

1) Cluverious

2) Bushing

3) Buache

4) Varenius

i o1 @ qd & 6w g F qreRie spie auT Faate spie & Haul 1 Foseddr Furfid
T 2

R S

2) qfar

3) et

1) arferaa

Ques # :22

Which one of the following concept is associated with Vidal de la Blache ?



1) Landscape chorology

2) Mathematical geography
3) Terrestrial whole

4) Landschaft

farafaf@a # @ i - @ Fwegar st & ot sarg grafaa @ ?
D) zesrfay Sha - sifaear

2) arforcher sper

3) arféia gFqoiar

4) emayfa

Ques # :23

Match List-l with List-Il and select the correct answer
using the codes given below —

List-| List-II

(Authors) (Books)

A. P.Gould 1. Mental Maps

B. P.Haggett 2. Influences of Geographic
Environment

C.E.C.Semple 3. Mainsprings of Civilization

D. E Huntington 4 Locational Analysisin
Human Geography

1)  A-1,B-4,C-2,D-3
2)  A-1,B-4,C-3,D=2
3)  A-4,B-3,C-2,D-1
4)  A-2,B-3,C-1,D-4

e - & En - | & gatea Sifse g gieat &
oA fQu §U e T YA T el SR Ifeids

- | - |
(era=) (7=)
A.dr. T 1. Aecar #Aww
B. 4. g1 2. SeHEUeHY 3 SARNThe TAdRReHT
C. 5.4 &¥ga 3. Ay 3% Afdasoree
D. 3. giecares 4. witehesTel UATTOIET So1 EGAA SATaATH]
1) A-1,B-4,C-2, D-3
2) A-1,B-4, C-3, D-2
3) A-4, B-3, C-2, D-1
4) A-2,B-3, C-1, D-4

Ques # :24



In the below mentioned Griffith Taylor's climograph climatic regimes
have been respectively marked as (1), (i1), (i) and (iv) . ldentify their
correct sequence from the se_ries given below and answer -
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1)  Scorching, Muggy, Keen, Raw
2)  Scorching, Raw, Keen, Muggy
3)  Muggy, Keen, Scorching, Raw
4)  Keen, Muggy, Raw, Scorching

fafthy TorR & fArIlhd FBHATE # IR Folarg g3 S HAM:
(), (i), (i) 3{% (v) & 3ifra forar ar & | 3@ & == &y aw
%A T Sog JedIY oAl Hol 30X Gireld -
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1)  Scorching, Muggy, Keen, Raw
2)  Scorching, Raw, Keen, Muggy
3)  Muggy, Keen, Scorching, Raw
4)  Keen, Muggy, Raw, Scorching

Ques # :25



The given diagram indicating the curve of W. Penck’s cycle of erosion
shows which of the following features ?

i
;

Upper Curva

Lower Curvae

Tima

1) Only upliftmentin stage A

Z) Rate of upliftmentin stage A is lower than that of B
3) Upliftmentis more than erosion in stage B

4) Rate of erosion in stage E is higherthan thatof D

Selectthe correct answer using the codes given belows -

1) 1,2 and 3
2) 3 and 4
3) 2 and 4
4) 1,2 and 4

fem g3 fo fow# seeg. Y& & aWea 9% & aw WERa ¢,
forFe oaTolt & & ey cafar & 7

4
Upper Curva
Lower Curve

1) A Fafa & haa 3o &

2) A Teafad & B &1 30T A& 3 g1 &1

3) B Rufad & 3Rega $T 39&T AEF Icud &r
4) E Feafg & D &1 39&Tm 3= WA &f

o G U Fe T Terdr § Hel W I -

1) 1,2 and 3
2) 3 and 4
3) 2 and 4
4) 1,2 and 4

Ques # :26



Match List-1 with List-Il and select the cormrect answer
using the codes given below —

List-| List-ll
(Regional Divisions (Bounding
of Himalayas) Rivers)

A. Kumaun Himalayas 1. Between Indus and Sutlej

B. Nepal Himalayas 2. Between Kali and Teesta

C. Punjab Himalayas 3. Between Teesta and
Brahmaputra

D. Assam Himalayas 4 Between Sutlejand Kali

1) A-1,B-2,C-3,D-4
2) A-2,B-3,C-1,D4
3) A-4,B-2, C-3, D-1
4) A-4,B-2, C-1, D-3

ﬁ;ﬁ-lﬂ#ﬂﬁ-llﬂﬂﬂﬁﬁﬁﬁmm;ﬁﬁﬁ@mqﬁﬂ
YT X e 3T 90 -

q&=T- | T -

(e & wRiEF fam) (HrATaty FX arer aAfgar
A. FHTS Tearera 1. ey o Helels & #7e
B. =urer feaATeRT 2. el T e & #Hed
C. gt fgaAre™ 3. faear @ guaA & 7
D. 35+ fearer 4. ToeTsl T Flell & HET

1)  A-1,B-2,C-3,D-4
2)  A-2,B-3,C-1,D-4
3)  A-4,B-2,C-3,D-1
4)  A-4,B-2,C-1,D-3

Ques # :27

Assertion{A) - Punjab, Haryana and Uttar Pradesh

are ideal wheat producing states of India.

Reason(R)- Geographical conditions like

well-drained fertile soil, 10° to 15° C temperature at the

sowing time and about 75 ¢cm rainfall occurin these states
1) Both A and R are true and R is the correct explanation of A

2) Both A and R are true and R is not the correct explanation of A
3) A is true and R is false

4) A is false and R is true

FAT (A) - Taltd , gRAOT 3R 30K ucer 9Rd &

AE Sculed & e T4

FROT (R)-3 T & g - HUallod 36 &7,
g31S & AT 10° & 15° WEAs agAwe 3R erarea
75 J.#. aut S sinfes gt Fedr &

D ARREGT Gcg & 3R R, A FrEdrearear g

2) A 3R R A T & e R, A T T8 s 18T §
3 A dcd %’@hrgl R 3HI %’
DAaETRFgRATE

Ques # :28

The Planning Commission of India and the National Remote Sensing Agency have divided India into how
many agro - climatic regions ?



1) Fourteen
2) Fifteen

3) Sixteen

4) Seventeen

AISTAT TN TAT TSE GIET WG TAHT F WA FY et FY - Srerarg waat 7 frenfora frar g
?

3) drere

Ques # :29

Lowest gap in male and female literacy (2011) was in -
1) Meghalaya

2) Mizoram

3) Kerala

4) Nagaland

q&ul T ATETHT Y FIERAT (2011) H LATH 3eci] AT -
D) areg &

2) fasiRa &

3) T

4) ArTUE

Ques # :30

Match List-1 with List-Il and select the correct.answer
using the codes given below —

List-| List-ll
(State) (Tribe)

A Gujarat 1. Gond
B. Madhya Pradesh 2. Mikir
C.Nagaland 3. Khond
D.Odisha 4. Bhil

1)  A-1,B-2,C-3,D-4
2)  A-3,B4,C-1,D-=2
3)  A-4,B-1,C-2,D-3
4)  A-2,B-3,C-4,D-1

T - | & Fm - 1| & Tfera Hifsle 70T A QT 91T &

T GE1ET Y el I AU -
= - | = -
(=) (SrratTfeY)
A TSR 1. 9z
B. H2O WC9T 2. AT
C. AETels 3. @is
D. Hfsar 4. ofter
1) A-1,B-2, C-3,D-4
2) A-3,B-4, C-1,D-2
3) A-4,B-1, C-2, D-3



4) A-2,B-3,C-4,D-1

Ques # :31

Which one of the following groups represent the correct sequence of mountain peaks of Rajasthan in
descending order of their height ?

1) Tatgarh - Kho - Bilai - Roja Bhakar
2) Kho - Tatgarh - Roja Bhakar - Bilai
3) Bilai - Kho - Tatgarh - Roja Bhakar
4) Roja Bhakar - Bilai - Tatgarh - Kho

frrafaf@a & & Fla - a1 aHE ToFuTe A gdd NI FT 37 F91E F AR 0L F H 76
HHA GATATE 2

D) areere - @Y - forerelY - Uar Ay

2) @ - eTeare - AT $TER - frerely

3) freITelY - @Y - €TEaTs - AT HER

) QST HER - FSeTel - ereete - @

Ques # :32

Structurally, the physical features of Rajasthan form part of which of the following relief regions of India ?
1) Northern Great Plain, Peninsular Plateau

2) Northern Mountain Region, Northern Great Plains

3) Coastal Plains, Peninsular Plateau

4) Peninsular Plateau, Northern Mountain region

TSIEYT & $ifas 939 TaacAF oo § 3R & Aefaiad a9 e Icaad yeat &1 Rear e

D 38t g Aart , reddT ger
2) el ISl T&R , Seady Jeel Hart
3) T et , YT 9o’

%) graeddiT 9oR | Sealy addT uger

Ques # :33

Which one of the following climatic regions proposed by Koppen is not correctly matched in Rajasthan ?
1) Aw - Southern Rajasthan

2) Cwg - Northern Rajasthan

3) BWhw - Arid desert

4) BShw - Semi-arid desert

P GERT TG STrary gt F § Toreyra & sl - grygAfaa adi g 2
1) Aw - gfeyof rereame

2) Cwg - 3cadl TeTedTeT

3) BWhw - & AEEIS

4) BShw - 37¥5; - [ HEEIST

Ques # :34



Match List-1 with List-ll and select the correct answer
using the codes given below —

List-| List-II

(Soil Types) (Districts)

A Andisols 1. Pali, Sirohi, Rajsamand, Bhilwara

B. Inceptisols 2_Jhalawar, Baran, Kota, Bundi

C.Vertisols 3. Churu, Sikar, Jhunjhunun, Nagaur

D. Alfisols 4 Jaipur, Alwar, Bharatpur, Sawai Madhopur
1) A-3,B-1, C-2,D-4
2) A-4,B-3, C-1,D-2
3) A-1,B-2,C-3 D-4
4) A-2, B-1, C-4, D-3

AT - | 1 FET - 1§ AT FIET a7 [ e & &
YT & Tl IO A0 -

=T - | g=r-
(Fedr & ) (e
A TS 1. arelr , fEGr , WerwHAe , #fferarsT
B. Saeccrdled 2. SATClErs , @R, $lel , gar
C. aéfded 3. 9%, HIe , Ao, ARIR
D. Fehred 4. AR , HeAdL , AR , Farg AT
1) A-3,B-1, C-2, D-4
2) A-4,B-3,C-1,D-2
3) A-1,B-2, C-3 D4
4) A-2,B-1,C-4,D-3
Ques # :35

For planting of dry teak trees in Rajasthan the most suitable districts are -
1) Barmer, Bikaner, Sri Ganganer

2) Dungarpur, Banswara, Udaipur

3) Jhalawar, Bundi, Kota

4) Bharatpur, Ajmer, Jaipur

TSTEYTE # o AETATe & JATRIVT ¥ Halfera 39gaa et § -
D areaR, fiaer , SRR

2) SR, FrEATST , 3EAR

3) greaTs, 98T , e

4) AT, 3TSTAT , AR

Ques # :36

Match List-l with List-Il and select the comrect answer
using the codes given below —

List-| List-II

(Minerals) (Mining Areas)

A Emerald 1. Tikki, Garhbore

B. Gamet 2. Rajmahal, Bageshwar
C_Manganese 3. Leelawani, Kalakhuta
D. Copper 4 Kolhan, Bhagoni

1)  A-1,B-3,C-2,D-4
2)  A-3,B-2,C-1,D-4
3)  A-1,B-2,C-3,D-4



4) A-3,B-4, C-2, D-1

TEr - 1 & - 1 gAfed e qur [Ae e e
& HT FAET FT Fel I AT -

T - | g -

(o) (Gt &)
A Teall 1. feaehr , argar
B. @m#HsT 2. T=IHGe |, dERay
C. HI= 3. effemar=r , FHTerger
D. drar 4. Flog , Hal=A

1)  A-1,B-3,C-2,D-4
2)  A-3,B-2,C-1,D-4
3)  A-1,B-2,C-3,D-4
4)  A-3,B-4,C-2,D-1

Ques # :37

Match List-1 with List-Il and select the correct answer
using the codes given below —

List-| List-II

(Areas in Rajasthan) (Cow Breeds)

A North-western 1. Rathi
Rajasthan

B. South-western 2. Kankrej
Rajasthan

C_Western Rajasthan 3. Tharparkar
D.South-eastcentral 4. Gir
Rajasthan

1)  A-3,B-2,C-1,D-4
2)  A-1,B-2,C-3,D-4
3)  A-1,B-2,C4,D-3
4)  A-2,B-3,C4,D-1

Tl - | @ - 1w gaferd i qur gt & |
feu 1w e &7 g F F6r 3W I -

g T - | T -l
(TFEUR F &¥) (T F 7w)
A. I - afFaHT Torear= 1. TWar
B. Zfawr - gigadr g=re= 2. hich i
C. gigaHT o= 3. YO

D. gfaer - qdf Fegadi Jored=r 4. TR
1)  A-3,B-2,C-1,D-4
2) A-1,B-2, C-3,D-4
3)  A-1,B-2,C-4,D-3
4)  A-2,B-3,C-4,D-1



Ques # :38

The National Highway of Rajasthan which forms part of both - the East-West Corridor and the Golden
Quadrant Project -

1) NH 8

2) NH 76
3) NH 79
4) NH 15

TSI 1 a7 AT T it Eaorer wrapbor TRatore 31 O - afear SRR aett a7 R & -
D) s Troremet 8
2) IsE TSTATET 76
3) I AT 79
4) e TSTAT 15

Ques # :39

Which ofthe following pairs is/ are correctly matched ?
Selectthe correct answer using the codes given below —

Irrigation project District
(1) Lhasi - Baran
(i) Takli - Kota
() Chakan - Sawail Madhopur
(iv) Indira Lift - Bundi
1) (1) and (iv)
2) (ii) and (iii)
3) (i) and (ii)
4) (i), (iii) and (iv)

fafat@d & I @i - A1/ PieT - F JIHA Tol GO 6 / & 7
s fqU I e & 9T W Hel IW A -

frars afaeT e

(i) orreh .

(ii) ARt - Frer

(iii) =meRa - Hals AT
(iv ) sfeer foroe - Ere)

1) (1) and (iv)

2) (ii) and (iii)

3) (i) and (i)

4) (if), (iii) and (iv)

Ques # :40

Which of the following tools yield data that are most difficult to be interpreted ?
1) Questonnaire

2) Rating Scale

3) Sociometry

4) Interview

frafaf@a & & Fie - & 3THIOT TART UToT Yeedl F1 ATEAT Halfte FHisa gt s 2
D) gesmaeh



2) T ROT ATGAT
3) grrarfata
4) graTehR

Ques # 41

Which one of the following statements is correct ?

1) Research refers to finding something new

2) It is difficult to conceptualize a final solution of social problems
3) Research refers to the permanent solution of the problem

4) Research refers to the tentative solution of the problem

afaf@ad sl - aTFaT T g 2

1) qier & greq FO 791 Giolel A

2) FrATTSTS GHEATT & HTIH AT Sl ehoUs] Hide &
3) Qier T o1& HAEAT &7 TARN HATETH TSt &

4) oMeT ST oTe-T HHAEAT T ATchlToleh AT TSt &

Ques # :42

Review of related literature helps in identification of research problem because - 1. It helps in identifying
consistencies among the findings of various researches. 2. It helps in identifying inconsitencies among the
findings of various researches 3. It helps in identifying research gap 4. It helps in avoiding repetition Which of
these statements are correct ?

1)1 and 3
2)2,3 and 4
3)2 and 4
4)1,2,3 and 4

e g A1fecy T THIRTT e TAEAT & T A e gial ¢ FAITh - 1. Ig Rffee At &
FIfaAT Y IgareT A TeIS gidl ¢ | 2. I§ faffiesr MUt & RAEarfaal 1 vgaa A Fes adi ¢ |
3. 9% AN & HTT &Y Y T H WEF et § | 4. Ig TR fead F a9 F HerT et § | 3R

AHT-FFAT TN G ?
1) 1and 3

2)2,3 and 4

3)2and 4

4)1,2,3 and 4

Ques # :43

Which one of the following is the correct sequence of steps of research ?

1) Problem identification, data analysis, hypothesis, conclusion

2) Hypothesis, data collection, sampling, conclusion, data analysis

3) Thinking about solution, selection of tools, hypothesis, data collection, data analysis
4) Problem identification, hypothesis, data collection, data analysis, conclusion

RRTAT TSI ROTFT T FA ST -TTE?

D) grear - 99+, yeed TAeIvoT, IReEeyeT , sy

2) qR&FeTT , Yeed Heholel , TageieT , Tisehy | Yeed fa2aryor

3) g v FReded , 30T - TIT , IRFEYsTT , Ueed Hholed , Yecd Ta2aIvor
1) GAEIT - T, IRFETSAT, Yeed GoholeT , Ueed TaavoT, sy

Ques # :44



In the identification of problem the researcher should decide -
1) The title and the variables

2) The objectives

3) The variables, title and objectives

4) The title

THEIT - g1 H ey’ 1 [Avifa s afge -
1) efr§er qar =1

2) 37

3) T, oS guT 3T

4) s

Ques # :45

Probability is known as -
1) Deliberate sampling

2) Systematic sampling

3) Stratified sampling

4) Simple random sampling

HHTSIT T GHT ATH § -
D) fasree wfdrass

2) cggted wiaaae

3) Tl wfaaae

1) geot grefeos yfaads

Ques # :46

Interpolation method is used in -
1) Choropleth map

2) Dot map

3) Isopleth map

4) Choroschematic map

AHeddere fafer w1 39T Far ST g -
D) gutard AT &

2) Ry TR

3) gHATRET AT &

4) guigdihr AT &

Ques # :47

Global Positioning System (GPS) is divided into how many segments ?
1) One

2) Two

3) Three

4) Four

Tlad NfSrerfAer RAEed (GIS) F fFdar s 7 Rsnfaa Far g 2
D) w
2)



Ques # :48

Match List-1 with List-ll and select the correct answer
using the codes given below —

List-| List-Il

(Method of (Uses)

Representation)

A_ DotMap 1. Distribution of temperature
B. Wheel Diagram 2 Landusedata

C. Choropleth 3. Population distribution

D. Isotherms 4 Population Density

1)  A-3,B-2,C-4,D-1
2)  A-4,B-1,C-2,D-3
3)  A-2,B-3,C-1,D4
4)  A-4,B-3,C-2,D-1

T - | 1 R - 1 gefera dIfeT @ A few aw
&C T FET H Hol I AT -

q= - 1 =T -
(wer=-fafe) (3
A Tawg AERT 1. TT9HAT & TderReT
B. 9hR@ 2. ##H 9T HwS
C. auTAT 3. S=EE - Ao
D. §HAM@EN 4. FAHEAT - Uelcd

1)  A-3,B-2,C-4,D-1
2)  A-4,B-1,C-2,D-3
3)  A-2,B-3,C-1,D-4
4)  A-4,B-3,C-2,D-1

Ques # :49

Match List-l with List-Il and select the correct answer
using the codes given below —

List-| List-II

(Method of (Uses)

Representation)

A. Isopleth 1. Nature of cormrelation

B. Dot 2. Population distribution

C. Scatterdiagram 3. Wind direction

D. Star Diagram 4. Distribution of transitional nature

1 A-4,B-2, C-3, D-1
2) A-2, B-4, C-3, D-1
3) A-4,B-2, C-1,D-3
4) A-2, B-4, C-1, D-3



AT - | & gl - 1| & FAferd HIST o =g e aw Fe &

YA & Hel 3 g0 -
T - | T T -
(v e=-fafin) EXEIC))
A HHEATA@! 1. HE-HFeeel 6T Thid
B. faeg 2. S - fa-are
C. famr 7@ 3. 9o+ - &ar
D. dR& IRE 4, HHAT Th(d &1 dear

1)  A-4,B-2,C-3,D-1
2)  A-2,B-4,C-3,D-1
3)  A-4,B-2,C-1,D-3
4)  A-2,B-4,C-1,D-3

Ques # :50

Which of the following characteristics of map projections is/are correct ? Select the correct answer using the
codes given below - 1. Bonne's and polyconic are modified form of simple cylinderical projections 2. Simple
cylinderical is neither an equal area nor true shape projection 3. Due to increase in longitudinal scale away
from the central meridian Bonne's is not an equal area projection 4. In mercator projection Great Circle is
represented by a curved line and rhumb line by a simple line, while in gnomonic projection the situation is just
opposite

1) 1,2 and 4

2) 2and 4

3) 1and 3

4) Only 3

AT eyt &1/ & et & @ ey - @1/ ey - F Tavor A §/ T 2 A R a1 Fe H1 w=@r F H@E
e AT - 1. Fiel AT SEAF TAIT F FNT T § 2. VIUROT oA A1 ol FAGTD 9819 ¢ 3R
o1 €1 LT ATHTA 3. FAIT AT F g7 I W SAT-ANT A H FIEg §1F & FROT Fhet T8T U

FHEAG FaIT 781 ¢ 4. AHET T&T A 6 Jecd b WG GaRT IUT 4T &FHATA (rhumb line) T
3@ R ATT AT § , STafh AlAIew T879 # 81 g6 faudia

D1,23k4

2)2 3R 4

3133

4) &aer 3

Ques # :51

Match List-1 with List-1l and select the correct answer
using the codes given below —

List-| List-l
(Uses) (Suitable Map Projection)

A Distribution of oceanic currents 1. Mercator
and planetary winds

B. World distribution of wheat 2. Mollweide
and sugarbeet

C. Trans-5Siberian Railway 3. Simple conical with

two standard parallels

D. World distribution of 4 Equal-area cylinderical
rubberandrice

1) A-1,B-4,C-2,D-3

2) A-1,B-2, C-3,D-4

3) A-4,B-3, C-2, D-1

4) A-3,B-1, C-4,D-2



T - | @ g - 1 gATerd ST qur A few e
& HT AT FT Tel I AT -

T -
(war)

| T -
I AT 98)

A HEERRT RIS Td 1. Fhel
TURT qd=r &1 daier
B. 95 Ud TheX &I faawoT 2. Aledls
C. i - A= ToHAmET 3. o AAE 3T SRR diede
D. Widfde® &5 Td drdel 4. GHETT delelh]

&1 faed TaoRoT
1) A-1,B-4, C-2,D-3
2) A-1, B-2, C-3, D-4
3) A-4, B-3, C-2, D-1
4) A-3,B-1,C-4,D-2
Ques # :52

Match List-l with List-Il and select the correct answer
using the codes given below —

List-|
(Type of Resources)

A

B
C
D

1)
2)
3)
4)

Renewable

. Non-Renewable

. Recyclable

- Uniquities
A-2, B-4, C-1,D-3
A-4, B-3, C-2, D-1
A-2,B-1,C-3, D4
A-3, B4, C-1,D-2

List-II
{(Examples)

1. Aluminium
2. Soil

3. Cryolite

4 Thonum

Tl - | & g - 1 # gEferd FifeT g e e aw
Fe & YAET F Hel 3w IMHAT -

- |

(TETEE & YhR)

A
B.
C.
D.

1)
2)
3)

B a1
HATHT
T

E=]

Wehel

A-2, B-4, C-1, D-3
A-4,B-3,C-2,D-1
A-2,B-1,C-3, D-4

T -
(3CTE)

1. 34T
2. Tl

3. HEse
4. AfTH



4) A-3,B-4,C-1,D-2

Ques # :53

On the basis of occupations consider the following sectors of economy and select the correct answer using the
codes given below - 1. Commercial fishing is primary occupation, while subsistence fishing is secondary
occupation 2. Lumbering and furniture making are both secondary occupations 3. Transport and defence are
both tertiary occupations 4. Banking is tertiary occupation, while management is quaternary occupation

1)1 and 2
2)2,3 and 4
3)1 and 4
4) Only 4

YT & ITUR I 3rdfedavyl & fArafafa@d el W Rar fifsre aur A i e fe 1 @
F WE 3o gAT - 1. aIfOfSTs Aergereor wrafie sqaara 7, afF fates Aceaagor gfada
2. THY FIeaAT 3R FeAleR a1 g1 g saaama § 3. TRage 3R yfawet gt geas
qqaTd ¢ 4. 3T gl sqaar ¥, Faf yaue aqds

D13ik2

22,3304

3)13R4

4) 3k 4

Ques # :54

Consider the following statements regarding international trade-flow and select the correct answer using the
codes given below - 1. Annual growth rate of export-import trade of developing countries is about 1 percent,
while it is more than 7 percent in case of developed countries 2. Developing countries contribute more than 64
percent 3. Total export-import trade of Singapore and Malaysia is 100 percent of their GDP 4. Trade balance
is favourable in case of most of the developed countries, while it is unfavourable in case of developing
countries

1) 1,2 and 3
2) 1 and 4
3)2,3and 4
4) Only 1

AL AR - YaTg & Foaey 7 frafaf@a wyat w1 faear fifare qur e Ro v se
YT FT e 3ca AT - 1. Rrprarefier qat & fate - 3mana samar iy aifde gies sTaamsmr 1
yfaera ¢, Srafe Rsfaa Gut 1 7 afoera & 3t 2. favg & Fo frata saar F R Sat #
ANITETT eTereTer 32 iererd €, Srafer s et &1 64 wfererar ¥ e 3. o ik AR
Fel fAATeT - AT SATIR ST Wehel TS 3cUTE (GDP) FT 100 FFrere § 4. rftraprer Rrsnfla ot #1
SATIR HJolel 3T eThel ¢ , STaf [Apreefier et w1 wfaser

1,233

2) 134

3) 2,3 31w 4

4) Faer 1

Ques # :55



Match List-1 with List-Il and select the correct answer
using the codes given below —

List-I List-II

(Trade Blocks) (Member Countries)

A. LAFTA 1. Sweden, Switzerland
B. NAFTA 2. Brazil, Argentina

C. SAFTA 3. Canada,USA

D. EFTA 4 Bangladesh, India

1)  A-4,B-3,C-2,D-1
2)  A-3,B-=2,C-1,D-4
3)  A-1,B-4,C-3,D-2
4)  A-2,B-3,C-4,D-1

AT - | & gl - 1| & FAferd HIFT a1 =g e aw ge &
TR Y Hel IO G0 -

|t - | qE -1
(BT & o w@vs)  (WEEF &)
A LAFTA 1. Tdlsa , Raeatels
B. NAFTA 2. gieliel , Hoffeear
C. SAFTA 3. SeAlsT , TS IT HARHT
D. EFTA 4. FECGY , AR

1) A-4,B-3,C-2, D-1
2) A-3,B-2, C-1, D-4
3) A-1,B-4,C-3,D-2
4) A-2,B-3,C-4,D-1

Ques # :56

Match List-1 with List-Il and select the correct.answer
using the codes given below —

List-| List-ll

(Propounders) (Theories of Factory Location)

A. Allen Pred 1. Behavioural Location Theory

B. Isard 2. Locational Triangle Theory

C. Fetter 3. Market Competition Theory

D. Alfred Weber 4 Transportation Least Cost Theory

1) A-3,B-2,C-1,D4
2) A-3, B-4, C-2, D-1
3) A-1,B-2,C-3,D-4
4) A-4,B-3,C-2, D-1

AT - | B G- IS gAferd FifST dur A T aw we #
T W OHE 3 =0 -

q=T - | g -1

(wierTE ) (FRETT Fafeufy fregia)

A Tod U5 1. SHdgNIh [egrd

B. 55 2. TUEHRT e fegia
C. X 3. SR wideqen fegia

D. Teths dav 4. TUAGH NG AT e

1) A-3,B-2,C-1, D-4
2) A-3,B-4,C-2,D-1
3) A-1,B-2, C-3, D-4
4) A-4,B-3,C-2,D-1



Ques # :57

The correct chronological sequence of orogenies is -
1) Hercynian, Caledonian, Chernian, Alpine
2) Hercynian, Chernian, Alpine, Caledonian
3) Chernian, Hercynian, Caledonian, Alpine
4) Chernian, Caledonian, Hercynian, Alpine

TadAATITRRY TeaT3il FT HE FIIHA & -

D) 4ot , SfoRifeae , afeiaeT , sreuse
2) g&ifforaer , afeiaeT , 3reure , HfasifagsT
3) gfetae , g, FfaRifaas , sreurssT
1) IfraeT , S, gdifaaeT, e

Ques # :58

In which one of the following sections of a valley is a river likely to flow through a braided channel ?
1) In youth stage in areas of steep slope

2) In foothill zone where large fragments of load are likely to be deposited

3) Near mouth where river velocity has been reduced significantly

4) Near source region

urdt & frafaf@a & & frw stmer & 7t & P STerAmet @ gl varfed 81 it Hemmaer 8 2
D) FrevTeear # o arer arer &t &

2) faRare &= # STgf deroe & fasimer gonst & eI glet & Harae &

3) HeTel & folehc STGT A1aT T J3T &I A gl STl &

4) ofi§ &1 & e

Ques # :59

What is the chief characteristic of 'thermocline layer' in oceans ?

1) It is the warmest layer of water in which temperature is almost equal at all depths
2) Temperature is low in this layer rises with increasing depth

3) Temperature is low in this layer but does not increase with increasing depth

4) Temperature in this layer falls rapidly with increasing depth

HASTATRY & "dTT - YG0TAT 9" (thermocline layer) mgmaﬂaﬁww% ?

1) oz 571 1 gad F7 9Xa g1 & Toras argaATeT g Tgrsat OX STl Ueh - AT glaT
2) 38 W ¥ IS Iao) & Y dTIHH SodT g

3) =g g & ATIATA A 2T & W IEE T&a) F GTY 9&ar TaT

4) 27 W F AIIATT TS & Y aon & Par g

Ques # :60

The correct decreasing order of the amount of salts in the ocean is -

1) Sodium Chloride, Magnesium Chloride, Magnesium Sulphate, Calcium Sulphate

2) Sodium Chloride, Magnesium Sulphate, Magnesium Chloride, Calcium Sulphate

3) Magnesium Chloride, Magnesium Sulphate, Calcium Carbonate, Potassium Sulphate
4) Magnesium Chloride, Magnesium Sulphate, Potassium Sulphate, Calcium Carbonate

AT STer 3 T Y AT FT qE TeaT FAE -
1)



2) Qe eSS, HIATRTH Gothe , HeARITH FaSs , $afRIua Gothe
3) HeARTH FelTss , HeARITH Tothe , FaIRITH Fefae , G RaH Gethe
1) FTARITA FARTSS , ATARIH Gothe , NATH Tothe , FoRITH Fefadc

Ques # :61

For representing distribution of metropolitan and rural population simultaneously on a map the most suitable
diagrammatic method would be -

1) Sten de Geer's volumetric method
2) Stilgenbauer's areal method

3) Isopleth and multiple dot method
4) Proportional circles and dot method

AT H FETATNT TUT ATHIOT TATEIT F fAa0T Y Tk - AT T TT FI & faw gaifds
39gFd ARG fafer g -

1) geo1 & afiT 3maraet faf™

2) fecerareT a3 & fafer

3) geeT Y o % - faeg e

4) gt geedt e g fafyr

Ques # :62

Which of the following is not a process of epeirogenetic movement ?
1) Subsidence

2) Upliftment

3) Landslide

4) Submergence

o & @ Pl v v A AT FadT AR € 2
D) sraqerst

2) 3euret

3) sTEgeleT

1) ST

Ques # :63

Arrange the following denudation processes in a sequential order and select the correct answer using code
given below : A. Erosion B. Deposition C. Weathering D. Transportation

1)A,C,BandD
2)B,C,Dand A
3)C,D,Aand B
4)C,A,DandB

farafaf@a seresTee whal F1 FATAR T au1 A1 33 Fis 1 Terdr @ FE 3ca) $T aq
AT : A, 3R B. A& C. 319877 D. IRGgT

DA,c,B3RD

2)B,C,D3NA

3)c,D,A3RB

Yc,A,DIRB



Ques # :64

Which is not a correct match ?

1) Geosynclinal Theory - Kober

2) Sliding Continent Theory - Jolly

3) Convection Current Theory - Holmes
4) Continental Drift Theory - Wegener

Flrar gaAfaa g1 g 2

1) spereetter el -

2) AgredIdrT fheereT feeid - Sitel
3) FageT o}t Regid - g

4) FgTedIdr gaTg faeaid - 3R

Ques # :65

Which of the following is an example of 'Playa Lake' ?
1) Great Salve

2) Lake Van

3) Lake Lap-Nor

4) Gohana Lake

frafaf@d & & i a1 oo gl &1 3qEIor g 2
D) 3c area

2)3135‘17,[

3) o9 - AR e

4) atgreTr girer

Ques # :66

Which of the following is an example of 'Bird's Foot Delta' ?
1) Niger Delta

2) Mississippi Delta

3) Rhine Delta

4) Hwanga-Ho Delta

fafaf@a & @ &l a1 "9 Seer FT3qEIOTE 2
D) Arger 3eer

2) fAEfad 3eer

3) et ST

4) gamr-gY Seer

Ques # :67

Which one is a depositional landform in Karst topography ?
1) Travertime

2) Uvalas

3) Sinking Creek

4) Doline

$leT AT T FEE FYATHI $T AGIITCHE TUARTE 2
D gaeiga

2) Zgarer



3) eigely fAafRrenr
RECIED)

Ques # :68

Dreikanter is associated with :
1) Karst Topography

2) Glacial Topography

3) Arid Topography

4) Coastal Topography

SISFlec] Fa10d &
D) &t voremafa &
2) Tt TS &
3) g T &
) a8 FraEa

Ques # :69

Which of the following is not a erosional landform of glacial topography ?
1) Nunatak

2) Arete

3) Roche moutonnees

4) Kame

farafafaa & & sl a1 feare Taarp e #1 sreearcas v A8 ¢ 2
D) sarea

2) reor e

3) oz ds I

4) 3o

Ques # :70

Which is not a correct match ?
1) Fluvial - Levees

2) Glacial - Horn

3) Karst - Demoiselle

4) Coastal - Bars

Hlerar gAfeaT At § ?

D) el - dessyr

2) #49 Geography 70 2#
3) HIEE - HEAFH

4) Fér - Qe

Ques # :71

Assertion(A) - A longitudinal dune is known as 'Seif'. Reason(R) - A 'Seif" is of crescent shape. Select your
answer using following codes :

1) Both A and R are true and R is the correct explanation of A

2) Both A and R are true and R is not the correct explanation of A
3) Ais true and R is false

4) A is false and R is true



FYA (A) - HJatd T "HE" & AH { ST AT ¢ | FROT (R ) - "H6" AT 31y e - Toar §
| Fafaf@e iz w1 3931 39 §U 39 IeR F1 79T e
DANRRSATTEEETATR , A 7 TE TTETOTE |

2) A 3R R T FEE R R , A T T TTSHIOT AL & |

3 ATHERIATE|

DATITER T |

Ques # :72

In which areas of the world, the lowest annual range of temperature is found ?
1) Tropical areas

2) Temperate areas

3) Polar areas

4) Equatorial areas

fea & it & ¥4 F sgeraw aifffs aaeaT gt 2
1) oot et &5t #F

2) qfrcirsor &yait at

3) grdrer &t 3%

4) sy aYat A

Ques # :73

Which one of the following factors is not affecting the distribution of temperature on Earth's surface ?
1) Latitudinal location

2) Duration of day

3) Atmospheric pressure

4) Altitude from sea-level

frafaf@a & & wla a1 v FROr arvHATE w1 g Fr wag ) Fawor w wenfd a@ wwar 2
D) sratiefir feafa

2) fee r 3rafy

) arguSel e

4) gog aa & Fars

Ques # :74

Arrange the correct order of pressure belts from equator to poles :
1) Equatorial low, subtropical high, polar high, sub-polar low.

2) Equatorial low, sub-polar low, polar high, subtropical high.

3) Equatorial low, sub-tropical high, sub-polar low, polar high.

4) Equatorial low, sub-polar low, sub-tropical low, polar high.

argeTe Afet Y sprey YT & &l dw WEl A F Aoy

D) sreaydi =51, 30T 329, g 399, 3948 g
2) AL 5T , 39-4dI =g , g 3=, IUISOT 3=
3) ATITT 5T , 3UISVT 3=, 3U-Ydig 3T , g 3=
4) srrrea e =eT , 39-¢dR ST, 3USUT g, 4 3

Ques # :75



The maximum velocity of westerlies is observed over :
1) Continents in Southern hemisphere

2) Oceans in Southern hemisphere

3) Continents in Northern hemisphere

4) Oceans in Northern hemisphere

I3 gaTsit T walftw i g 3
D) gferofy ateres; & Agredidt
2) giayoft aered & AGTERRT 9T
3) Seary Tirees & FETed )
) Sead) FMeIres; & AGTTIRT 9T

Ques # :76

Which latitudinal region is the source of c¢T air masses ?

1) 152 — 352 North or South
2) 152 North — 15° South

3) 35°— 45° North or South
4) 40° - 60° MNorth or South

cT IGUTAAT T FANT HieT |7 raTefT gSor g 2
1) 15° - 35° 3ad1 ar gfarfr

2)15° 3w - 15° gharofr

3) 35° - 45° 3T AT GiaToir

4) 40° - 60° 3TN AT Glatolr

Ques # :77

Which one of the following statements is not correct ?

1) Mean annual total rainfall is greatest in equatorial region

2) Regions located in interior of continents have lesser rainfall

3) Cold Oceanic currents provide enough rains in coastal areas

4) Orographic lifting of air is a significant factor in regional distribution of rainfall.

AT T RrT T A § 2

1) fosad Y& yeeit o ast & 3irad arf¥e e it glar g |

2) FgTedt & 3iaRe HEl 7 d yeer e asT arr 81T & |

3) & FETERRY URI & &Y=t & gafeT gt T § |

4) T $9T & A oh SR 35T ATeiRIeh STora T fdcioT &hl TeATide el arell JHE HR ¢ |

Ques # :78

The main bases of Thornthwaite's classification (1931) of climate were : A. Precipitation effectiveness B.
Monthly precipitation C. Thermal efficiency D. Average monthly temperature

1) A and B are correct
2) B and C are correct
3) A and C are correct
4) A, B and D are correct

UTTLAT F FAary GATHI0T (1931) F FET TR & - A. 07 Fen1fIar B. 71f4F ador €. ardrr gavan
D. 3ittaa A« A

DaRBaEE
2)



B3IRCHE®
HAdRcadE
DA, BIRDEEE

Ques # :79

Which is not a favourable condition for the inversion of temperature ?
1) In winter on calm and clear sky

2) Surface covered with natural vegetation

3) When sky is clear and anticyclonic conditions prevails

4) When surface is covered with ice and snow.

argaATe gfaeaa & o vl @ swdFa g i § 2
D) ofrer e # eriet 3R a1 3rreprer

2) eRTerel FT W qereara & g gl

3) STe 3TTeRTRr |1 &Y AT ST TshaTd I gt &1

4) 319 TR 9% Ud RH T o1 @Y

Ques # :80

Telegraph Plateau is located in :
1) Northern Pacific Ocean

2) Northern Atlantic Ocean

3) Southern Atlantic Ocean

4) Southern Indian Ocean

e IR fRud 8

D) 3cad geria AgramR &

2) 3ecll 314 (3Tcllioeeh) AGTENR &
3) gferoft 3= (3celliecen) HErETR H
4) giErolt fee, HAgEeR

Ques # 81

Aleutian Trench is located in :
1) Eastern Indian Ocean

2) Southern Pacific Ocean

3) North Pacific Ocean

4) Western Indian Ocean

TR wT$ (1) Rua §:
D) gt e @R 3

2) giayoflt gerid AgrERR &
3) Zcadr wRiid AR &
4) qiFeHY Reg AGERR #

Ques # :82

The highest salinity in Northern Hemisphere is found between :
1) Between 52N to 10° N latitudes

2) Between 102N to 20° N latitudes

3) Between 40° N to 55° N latitudes



4) Between 20° N to 40° N latitudes

Jcadl MATS & Fa1F aTqorar i€ St §:
1) 5° 3wl & 10° 3all Hamer & A=Y

2) 10° 3 & 20° 3T &TRT & A

3) 40° ¥ 55° I HETRM 5 AL

4) 20° 3T | 40° Iall HaEA & 7L

Ques # :83

Which one of the following is not a marine resource ?
1) Petroleum

2) Natural Gas

3) Monazite

4) Mica

frafaf@a & @ &l a1 v ey g A § 2
D) garforas

2) grepfaes 3

3) AeTreTse

b 39

Ques # :84

Who propounded the Stationary Wave Theory of the origin of tides :
1) W. Whewell

2) T. Garrison

3) R.A. Harris

4) A. Strahler

SR - #1eT FY 3cafed & TAfaF aier Regid o1 ufaare fFaa f6ar 2
D) zeeq . Rae

2) & . g

SR el it es)

Du. e

Ques # :85

Match List-1 with List-1l and select the correct answer
using the codes given below —

List-| List-lI
(Ocean Current) (Name of Ocean)

A. Agulhas Current (i) South Indian Ocean
B. Humboldt Current (i) South Atlantic Ocean
C. Kuroshio Current (i) North Pacific Ocean
D. Benguela Current (iv) South Pacific Ocean
1)  A-(i), B-(iv), C-(iii), D-(ii)

2)  A-(i), B=(iv), C-(ii), D~(iii)

3)  A-(iv), B-(iii), C-(ii), D-(i)

4)  A-(iv), B-(iii), C-(i), D-(ii)



g4 - | &g - || § GRS wIfST gur §g7 W & 99

o,

A feu IR 15 T SErEadr I FIET -

T - | T - 1l

(FeEmRE aRH) (FEENR &T A1H)
A, 3TITCTERT &RT 1. gfaroft fgeg AgRTR
B. gFelec NI 2. gfaofr =T AR
C. FRIferar emr 3. IR 9eAed AGER
D. darer «RT 4. gfaroft gened AgER

1) A-(i), B(iv), C~(iii), D-(ii)
2)  A-(i), B(iv), C~(ii), D(iii)
3)  A<(iv), B~(iii), C=(ii), D-(i)
4)  A-(iv), B-(iii), C-(i), D-(ii)

Ques # :86

Among ocean deposits, Globigerina Ooze is a -
1) Inorganic deposit

2) Biogenic deposit

3) Sea - shore deposit

4) Terrigenous deposit

g1 AT fraat & & afe e av § -
D) srrefas @ay

2) e e

3) @R ad FeT

4) s{forsT e

Ques # :87

The largest number of Atolls exist in :
1) Indian Ocean

2) Atlantic Ocean

3) Arctic Ocean

4) Pacific Ocean

veTd gaifaes T&ar & foud §:
D) Ree AR &

2) 31eET FETANR #

3) 3nfes FgramR &

4) gerd AEEPR &

Ques # :88

Examine the following statements and select the correct answer using code given below : A. Fringing reefs
cling to the margin of land. B. Barrier reefs are separated from land by a lagoon. C. The Great Barrier Reef
lies to the east of New South Wales D. An Atoll is a ring -shaped island

1) A, B and C are correct
2) A, B and D are correct



3) B, C and D are correct
4) A, B, C and D are correct

farfaf@a syt 1 aReTor AT T4 T 3caR F71 99 A @A F13 F IR W HAFT: A, T
varer ffeaat Fuer 1 o & 7 @1l ¥ | B. s varer fRfeaar wuer & oy gant guw gt ¥ |
C. ¥ NI % 7 W37 350 F @ 7 Fya ¥ | D. veia v AR IrFR FT AT e g |

DA B3RCcEE

2 A, BIRDESE

3) B, C3IRDTEE]

DA, B,CIDTEE|

Ques # :89

Which of the following is not a biogeochemical cycle ?
1) Carbon Cycle

2) Nitrogen Cycle

3) Cycle of erosion

4) Oxygen Cycle

frafaf@a #§ & #ia @t o 5, wafas T adi e
D) et aem

2) ArgerS a5

3) 3r9eesT TH

4) 3iterdliereT T

Ques # :90

The pyramid of biomass in a grassland ecosystem is :
1) Upright (broad base)

2) Inverted

3) Horizontal

4) Parallel

g & TIRFEUfa® a9 & A Rz aare:
1) gverr @er (3mum <iten)

2) 32T

3) efasia

1) gHAATTAT

Ques # 91

Which one of the following is a region of high ecological productivity ?
1) Deserts

2) Tropical and temperate forest regions

3) Grasslands

4) Snow Covered areas of Arctic

fafaf@a & @ i a1 v 3T IRTRUfAFT ScuEFaT FT U # 2
D) Aeere

2) zwut Ug QNdrsoT SHfeaei gt waer

3) arg & AT

b r&fes & RAATT A7



Ques # :92

Which one of the following is not a megabiodiversity country/ area of the world ?
1) Mexico

2) Turkey

3) Madagaskar

4) Brazil

farafaf@a # @ Fler a1 v S/ 87 faeg #1 gea Aa RfRyar e @i g
D Afras

2) =

3) AsremEEY

4) sroirer

Ques # :93

Which of the following is not a hot spot of biodiversity in the world ?
1) Sunda Land

2) Central Chile

3) Siberia

4) Caribbean Island

e A Prafaf@a & ¥ i a1 9 RfRwar 1 ava ¥ (@l F4ie) A8 & 2

D) ozt Sz

2) geg Faeh

3) grgafar

4) Ffeuet gdoag
Ques # :94

Botanical garden for plants and zoological park for animals are the examples of which type of biodiversity
conservation ?

1) Ex situ
2) In situ
3) Integrated system
4) Legislative system

A1 3¢TeT q1e 4t & faT qUT wrofifaareT 3urer SeaRY F forv 5 v & sta Rfaudar aeemor &
3ETEI0T 3 2

1) gfeeefy wRaor

2) FarEATS HETT

3) vdrgd T

4) Froet

Ques # 95

Which one of the following is not a geological environmental hazard ?
1) Landslide

2) Drought

3) Earthquake

4) Volcanic Activity



Feafaf@a 7 & #la a1 v serfels qafauita smoer 8t § 2

Ques # :96

Who used the word 'Physical Geography' for 'General Geography' ?
1) Humboldt

2) Carl Ritter

3) Ratzel

4) Richthofen

e et spaner ereg 1 TN "HEATT sEer & ford R 2
l)m

2) 1ot Rex

3) ot

4) Rrarairser

Ques # :97

The author of the book 'Geography and Geographers'is :
1) D. Harvey

2) E. Soja

3) Stoddart

4) R.J. Johonston

"Geography and Geographers" J¥d<s & dE@h %:
D ar g

2) g @

3) werare

) 3RS, SleTEest

Ques # :98

Who intoduced the 'Behavioural Matrix' in geography ?
1) A. Pred

2) W.K. Kirk

3) A.H. Jensen

4) L.A. Brown

$ENe H "eAERATS) e Fhaa yedfad R 2
Do ys

2) gseg, &. fFdh

3) . v, S

4) Ter.T. 3T

Ques # :99

Who is the author of the article, 'The Major Natural Regions' ?



1) P.M. Roxlay

2) A.J. Herbertson
3) L.D. Stamp

4) R. Hartshorne

"The Major Natural Regions" &@ & a@® i g2
D oy ue, Toraelt
2) T3, gRaEHT

3) v &Y. Ty
4) IR grEAMA
Ques # :100

Match List-1 with List-Il and select the cormrect answer
using the codes given below —

List-| List-ll

(Geographer) {Book/Article)

A. H.Barrows (i} Civilization and Climate

B. E. Huntington (il) Models in Geography

C. Amold Guyot (iif) Geography as Human Ecology

D. Chorley & Haggett (iv) The Earth and Man
1)  A-(iii), B-(i), C-(iv), D-(ii)
2)  A-(iii), B-(ii), C-(iv), D-(i)
3)  A-(ii), B~(iii), C-(i), D-(iv)
4)  A-(i), B-(ii), C-(iv), D~(iii)

T - | & g - gafed fIfST gur §e 3 & 9hdT A
Tr & s & HfaT -

& - | T -
(3Ever ) (qFa= | o)
A TUE SO 1. Civilization and Climate
B. 5. gfcates 2. Models in Geography
C. 3 N=Tes e 3. Geography as Human Ecology
D. =melt 3R 29e 4. The Earth and Man

1) A<(iii), B-(i), C(iv), D-(ii)
2)  Ad(iii), B=(ii), C-(iv), D-(i)
3)  A-(ii), B-(iii), C-(i), D-(iv)
4y A-(i), B=(ii), C-(iv), D-(iii)

Ques # :101

Which one of the following geographer is not associated with the concept of possibilism ?
1) Febre

2) Demangeon

3) Demolins

4) Blenchard

Rl 3 & #h7 W1 T spiterdeaT Weraae ) Harede & T gt § 2
1) $hay

) it

3) sArfad

4) sotarg



Ques # :102

Which is not an exchange activity ?
1) Freight transportation

2) Tele communication

3) Retail trade

4) Management

Fier o RfowT Faradt g 2
D #rer uRaget

2) gz

3) ger SR

4) garere

Ques # :103

A simple model of economy is based on :
1) Set of decision-making elements

2) Transport network

3) Environment

4) International trade

FACYTTYT T TR AT TR T g ?
1) foyotar oY arel dcalt & THg |

2) qRageT ST R

3) qaferRoT )

4) RIS IR 9T

Ques # :104

Consider the following statements regarding spatially closed economy : A. Isolated with other regions B. Fulfil
their own needs C. Linked by transport network D. Acquire services entirely within a spatial unit. Select the
correct answer using code given below :

1) Only A is correct

2) A, B and C are correct

3) B and C are correct

4) A, B, C and D are correct

YA 9 Irdegaeyr @ grafd Arafaf@a syl w AR fifF : A, =7 g3t @ gu+ B.
I9elt AraRIFATHT FY ¥ qfek C. aRager Jrer & GYF D. TUIfAF §H7E F FAET YA WIed FaAT
D e A w818

DA, BIRCHEE

) BIRCHEE

Y A,B,C 3R D HETE

Ques # :105

Which of the following is not a renewable energy ?
1) Geothermal energy

2) Hydropower

3) Nuclear energy



4) Solar energy

frafaf@a # ¥ Fia @ v gt et ad d
1) sardr 3=

2) ster Rt

3) 3mrorfaes Fett

4) IR Feit

Ques # :106

Which one of the following is not a method of soil conservation ?
1) Contour ploughing

2) Canal irrigation

3) Controlled grazing

4) Crop rotation

frrafaf@a & & sl a1 v T aReor A A S 2
D) wrareayda ars

2) TRt gaw TS

3) forifaer geramoT

4) wHer TP

Ques # :107

Which of the following is not a major trade block of the world ?

1) European Union (EU)

2) The South Asian Preferential Trading Agreement (SAPTA)

3) Latin American Free Trade Association (LAFTA)

4) United Nations Conference on Trade and Development (UNCTAD)

frrafaf@a F @ e a1 e #1 vogw saraie w@eree (seme) 7181 8 2
D) zifer @e (EU)

2) zfgyoft ufar 3rerofy saTaTRe FHST (SAPTA)

3) AfeeT AR ERsT T &8 HTaeT (LAFTA)

4) TR 3R e I HYeF AT FFAT (UNCTAD)

Ques # :108

Assertion(A) - The North Atlantic route is the busiest of the ocean trade routes of the world. Reason(R) - This
route connects Western Europe and Eastern North America, the two highly developed regions of the world.

1) Both A and R are true and R is the correct explanation of A

2) Both A and R are true and R is not the correct explanation of A
3) Ais true and R is false

4) A is false and R is true

FYUA (A) - 3cdd) ITATleeh AT [T FT AW SITY AGTHIRY SATATRSF ART § | HI0T (R ) - g ART
gt I 3R gt seadt 3ARTT F wgFa Far g, S e F o) gaifs Refa e )

DAMNRREATTEETTUATR , A 7T TE TTESOTE |
2)A3ﬂTRaﬁﬁﬂé’r%ﬁﬁrR,AﬂﬂﬁfWﬁﬂTﬂﬁ%!
AN EIARRITGTE

YD ATITE IR TG



Ques # :109

Which one of the following is not a main area of mangroves ?
1) Sunderbans

2) Mahanadi Delta

3) Gulf of Khambat

4) Tarai

frafafaa #§ ¥ #ia @1 vw AT FrvE AT Adt g 2
1) et

2) FET-IEY SoeT

3) gFara S @y

4) 1S

Ques # :110

Which of the following states has largest reserves of coal in India ?
1) West Bengal

2) Madhya Pradesh

3) Jharkhand

4) Telangana

fArafaf@d & @ 9 F1 Fia 971 =7 FaiftF Faer HusR @aTg 2
D) gfges semer

2) Feg ueer

3) grrEvE

4) el

Ques # :111

In which state Malprabha and Ghatprabha multipurpose projects are located ?
1) Maharashtra

2) Telangana

3) Tamilnadu

4) Karnataka

ATTYT AR AreTs ag3fy A Te A Rya § 2
D) Fgrrsg

2) qeiaTTeT

3) affer ag

4) Feilceh

Ques # :112

Pali, Pada, Nagala and Dhani etc. Are the names given to which type of rural settlements in India :
1) Hamleted Settlements
2) Clustered Settlements
3) Semi-Clustered Settlements
4) Dispersed Settlements

qrelY , 9TST, ST, S0 31T ST AR & fF T YR F graior ey # & 2
D) geoht afeaar



2) gifesa afeaa
3) y1e; - pfee afee
4) aRfErea afeeat

Ques # :113

Which is not a correct match ?
1) INDAL - Belgaum

2) HINDALCO - Renukot

3) NALCO - Koraput

4) MALCO - Korba

Pl T PATAT AL & 2
1) INDAL - Seretta

2) HINDALCO - &J&e
3) NALCO - FNIYe

4) MALCO - #Rar

Ques # :114

Which of the following is not a part of Integrated Rural Development Programme ?
1) Minimum Need Programme

2) Desert and Drought-prone Area Development

3) National Rural Development Programme

4) Development of Women and Children in Rural Areas

frafaf@a & @ &l ar aRfera aior AT FRIwT HET AT 6 2
D) sgstae smagaendr HriwA

2) AEEY Ud T - 90T G HIshe

3) e AT AR RIS H

4) grefior &3 AfEel vd Tt faer

Ques # :115

Which one of the following centres of iron and steel industry is not
shown correctly on map ?

Dalvi rﬂ?{ f Bh”a?urgapur
;Lsmem
L/
1) Salem
2) Dolvi
3) Bhilai

4) Durgapur



feafaf@d # & Fia @1 v aer 3R ST 35T F Feg
AT 9T TET gT fe@rr arar ¢ ?

s
I(-"f.], : E a:
et | fFrems
oA
1 o
2) Sedr
3) fi'l?l'lé

4) Wo

Ques # :116

'Kheri' is a breed of
1) Goat

2) Camel

3) Buffalo

4) Sheep

T TR AT |
D sir

2) e

3) sig fr

4) = fr

Ques # :117

In the map of Rajasthan , shaded area shows the main areas of
which crops ?

1) Maize
2) Bajara
3) Barley

4) Jowar



AT & AT 9 TAMehd &7 (Shaded area) T wHd
& TET 8T F UGAT T § ?

1)

Hrehl
2) SToRT
3) St
4) AR
Ques # :118

Match List-1 with List-1l and select the correct answer
using the codes given below —

List-| List-lI
(Districts) (5ex-Ratio)

A. Dungarpur (1) 646

B. Rajsamand (11) 990
C. Dholpur (i) 852
D. Jaisalmer (iv) 994

1) A(ii), B-(iv), C~(i), D-(iii)
2)  A(iv), B(iii), C~(ii), D-(i)
3)  A-(iv), B~(ii), C-(i), D-(iii)
4)  A-(i), B-(ii), C~(iii), D-(iv)

T - | F T - 1 gAferd FIiST o A e aw
& N FIET F Hel 3w AT -

=T - | = -
( f&rer) ( fefamena )
A. TR (i) 846
B. Tro@# e (i) 990
C siferqy (iii) 852
D. SR (iv) 994

1) A<(ii), B(iv), C-(i), D(iii)
2)  A<(iv), B(iii), C-(ii), D-(i)
3)  A<(iv), B~(ii), C-(i), D-(iii)
4 A-(i), B=(ii), C(iii), D-(iv)

Ques # :119

On which river Meja dam is located ?
1) Kali Sindh

2) Kothari

3) Ghambhari

4) Parvati

fFg A W AST Ty RYya g ?



1) prelt frer
2) Frey
3) arFerdy
4) qréay

Ques # :120

Which aspect is not related with significance of research ?

1) Research inculcates scientific thinking.

2) Solutions suggested in research are universal

3) Research promotes the habit of logical thinking

4) Spatial and temporal aspects are basis of geographical research

HIeTHT a7 AT & Ageca Y FFEAT AL & 2

1) eiter dnfores @ o fas i@ aear & |

2) efter 3 g 71 Gerra AIGHIAS B |

3) eiter anfdes A 3 gftg A § |

4) sttenfores efter 1 3MUR e 3R FHARTER

Ques # :121

Which of the following is not a quality of good research ?
1) Systematic

2) Methods of data analysis should be appropriate

3) Based on pre-conceived ideas.

4) Logical

farafaf@a & & Hla |1 v oaor ater A JUTEEATHT AR 2
D) sreereean

2) 31reRst 1 fagevoT 3 Rt ganr

3) qd - repeTtad faamt ov amenfia

) arféhen

Ques # :122

Which is not a method of hypothesis testing ?
1) Chi-squire Test

2) Circular Test

3) Student's T. Test

4) Parametric Test

i @ R aR@weuart & aReor fradi g 2
D) 7§ - oo fafer

2) gamr fafer

3) TeST & . gdveToT

4) yrafere gdetor

Ques # :123

Which type of sampling is done if a population from which a sample drawn does not constitute a homogenous
group ?
1) Systematic



2) Random
3) Stratified
4) Area

7 frelt SereeaT wopg F vHwaar 81 ¢ A e g & afaeer @afon $ir s 2
D fafaa

2) gq fPeeieT AusH)

3) Tafkd

4) e

Ques # :124

Which is not a type of the measurement of scale ?
1) Simple Scale

2) Nominal Scale

3) Ordinal Scale

4) Ratio Scale

Il T ATYAT & ATIT T THR 781 § ?
D) gremor Arges

2)ﬂ'll&-lc*-llﬁl HI[Yeh

3) ST ATIH

4) 3feqaTe AT

Ques # :125

In report writting, select the correct sequence of the following heads using codes given below : (A) Objectives
(B) Cartographic representation (C) Conclusions (D) Data Collection

1)A,B,Cand D
2)A,D,Band C
3) D, A,Band C
4)A,B,Dand C

gfadest faws & Aeafaf@d ofivsi &1 38 7 A 2 F15 @ 999 AT : (A) 3327 (B)
A REHIT (C) sy (D) 3mHeY FT AhelaT

DA, B,c3RD

2)A,D,B3RC

3)D,A,B3RC

YA, B, DIARC

Ques # :126

Chorochromatic maps are suitable to show distribution of :
1) Population

2) Production of agricultural products

3) Types of vegetation

4) House types

o AAfT (@R RE AT) o e & sugaa 81 ¢:
D) Sergean

2) ¥ 39 T 3cTET

3) gerEafa % ghR



4) 31rarat F gFR

Ques # :127

The suitable quantitative method to show distribution of rainfall and temperature in a region is :
1) Choropleth method

2) Dot method

3) Stilgenbauer's method

4) Isopleth method

forelt &1 & it 3R aTaeTe & faavor Y weftia A 1 sugFa AT aftre:
D) qofar fafer

2) feg R

3) Recerataansr fafer

4) gy Y fafg

Ques # :128

In a Mercator Projection, Loxodrome is a -
1) Central Meridian

2) Standard Parallel

3) Straight line joining two places

4) Concentric circles

ATFHET Y&IT UX Uehieer AT (FaFsigha) gt & -
D) = srearer @

2) grefores 3reTier

3) &Y TTeT Y eIy arely dvedy YT

4) grAFfeaa gd

Ques # :129

Which diagram is suitable to show Age and sex of population ?
1) Ring diagram

2) Block diagram

3) Pyramid diagram

4) Wheel diagram

SHAHEIT Y 3T ve FAT HY G FIo ¥ FeT W1 ING 3ULFA L 2
D gera sma

2) seTTeh 3G

3) Rfas sma

4) 75 ING

Ques # :130

What is the meaning of the word 'Entwickelung' in Penck's Cycle of Erosion -
1) Development

2) Growth

3) Releif

4) Stage

U & G T A "SR A FT FATHLAF -



D) e

2) ac-fgja

3) Tyt
4) srger

Ques # :131

First classification of clouds was put forth by :
1) W.Hobs

2) Trewartha

3) Kiyoo Wadati

4) Luke Howard

Gl HT FEATYH FafTRIor foraa) weqa frar ar 2
D ssg . gred

Ques # :132

Rossby Wave' develops in which stage of Jet stream ?
1) First stage

2) Second stage

3) Third stage

4) Fouth stage

ST T &Y fohd raedT / " deT" T AATOT T g2
D) gerar sraeerm

Ques # :133

Which one of the following mountains is an example of 'Complex Mountain' ?
1) Mayon

2) Fujiyama

3) Sierra Nevada

4) Rainier

e & ¥ Flaar gda "ABT/ Ffee 9da” T 3gEI0T S 2
1) Framey

2) e

3) faTwT Aarer

DI

Ques # :134

Manmad to Kolhapur region is famous for which industry in Maharashtra -
1) Cotton Textile



2) Iron Ore
3) Sugar
4) Software

HERTSE A HAATS F FIegT aF F 87 frw 361 & e afdeg ¥ -
I)Hﬁaﬁ

2) g a&

3) AT

4) FiFea}

Ques # :135

Which district is native place of 'BHARMOR' tribes in Himachal Pradesh -
1) Chamba

2) Kangda

3) Sirmor

4) Mandi

AT geer F1 Hlerar forar "sRaAR" Sdenfa &1 e Tue g -
1) gar

1 arer

3) AR

4) zar

Ques # :136

The following map of India showing the location of 4
hydroelectricity projects of India as A, B, C and-B. Which project's
location is not correct ?

‘s C J

|l s
"T B [
E I
\/
1) A - Bhivpuri
2) B - Bhadra
3) C - Mohra
4) D - Bhola



o fodr a1v R & AT F oRa B 4 I faga
RISt T A, B, Crada D F sT A AT =T & | 597 &
fre aftEistan & Rufa @ a8 & ?

eCi/
JI:? i
”'-::iA j,f_ _
\
HI"'TB f
L Pl
\/
) A - gl
2) B - a1
3) C - AT
4) D - e
Ques # :137

Kashmir valley and Dul lake is situated between -
1) Grater Himalaya and Pirpanjal

2) Shiwalic and Pirpanjal

3) Grater Himalaya and Trans Himalaya

4) Greater Himalaya and Karakoram

FAR g1d) 19 5 3 31 Q=) & Ay Feua g -
1) g ReeTora v dedotrer

2) forarfore Ta SRYSITer

3) FAgTet fewTera wa g feaATer

4) AT AT UF FUHRHA

Ques # :138

Eagre Tidal Bore' is related to the River -
1) Saint Lawrence River

2) Amazon River

3) Trent River

4) Seine River

"&IR SaRY fAfea” #1 gFaey FFra AT g -
D) g o 78

2) 313reTeT F1EY

3) dee oY

4) et A&

Ques # :139

The Theme of 'World Environment Day - 2015' was -
1) Seven Billion Dreams. One Planet. Consume with Care



2) Environment for Our Future : Sustainable Livelihoods
3) Clean Environment - Green Earth
4) Earth and Wonderful Environment

"fared gafaRor feaw - 2015 F1RwT § -

D) arer faferasT H9eY | Ue 7[5 | AIaemei & 393 |
2) AR #Afas & forw g2iaRor: Faroier smshfasr
3) T TaoT - g8 gedt

4) gedy v 3meadeteTes gTaRoT

Ques # :140

What is the other name of 'Debris Slope' according to Strahler ?
1) Derivation Slope

2) Debris Controlled Slope

3) Valley Floor Basement Slope

4) Repose Slope

FEIEE & TR "HeIdT STl T 3o ATH FAT 5 2
D forarast arer

2) Forar AT arer

3) 7Y TR aTeT

4) g et

Ques # :141

Nutrition content have flows in ecological system -
1) Direct Flow

2) Indirect Flow

3) Reversible

4) Succession

IRTEYfAF a9 & 99 decal ST TUIOT AT & -
D gzt yarg

2) 3r9caeT gaTg

3) Scraviia

4) srreRarof

Ques # :142

Which type of plants life is only of one season ?
1) Phanerophyts

2) Hemikriptophyts

3) Kristophyts

4) Therophyts

g yoR & gtul w1 e Faa v AlHAF A AT 2
D) $eriwrsew

2) g fFIPIEeH

3) frecIpEeH

4) MprEcy



Ques # :143

Match List-1 with List-Il and select the correct answer
using the codes given below —

List-| List-lI
(Zoogeographic Region) (Region)

A. Palaeoarctic region (1) South and South East Asia

B. Nearctic region (i) South America

C. Onental region (iif) Europe and North Asia

D. Neotropical region (iv) North America and Greenland

1) A-(iii), B-(iv), C-(i), D~(ii)
2)  A<(i), B=(ii), C~(iii), D-(iv)
3)  A-(i), B=(iv), C~(iii), D-(ii)
4)  A(iv), B=(iii), C-(i), D-(ii)

AT | W AT SIS qur HEr 3w R 9=
Fﬁi‘rﬁ'@miﬁﬁﬂmﬂTF HITT -

= el

(soft sitaife wan (w&am

A QRI3THICH Taar (i) gfaroT va giaorqa ufErr
B. e 3Tehiee 9aer (i) SOl @R

C. W= weer (iii) Z0rT g TR ofEET

D. Aara=igiaa geer (iv) 3T HANFT vd A=Tels

1) A-(iii), B-(iv), C-(i), D-(ii)
2)  A-(i), B=(ii), C(iii), D-(iv)
3)  A-(i), B-(iv), C-(iii), D-(ii)
4y A<(iv), B<(iii), C-(i), D-(ii)

Ques # :144

Which soil has very high 'Clay’ content in Rajasthan ?
1) Aridisols

2) Alfisols

3) Vertisols

4) Antisols

TSTEYTeT Y e a7 & "Fel" qgd H0F 918 AT ¢ 2
1) eRérete ”

2) gehrated

3) aétateq

4) vérdted

Ques # :145

Which is not a characteristic of a research problem ?
1) Relationship between variables

2) Research problem should be in question form

3) Protection of moral judgements

4) Test ability

FIeTHY U HTHUTT THEAT HY farwar 7t 8 2



D) =3t & o geaesr

2) TTHTT HHAEAT T 92T &9 3 gl
3) Aifores Ao & grerer

4) Srrefran

Ques # :146

What is a right sequence of phases of successional development of vegetation ?
1) Nudation, Migration, Reaction, Ecesis, Stabilisation
2) Nudation, Migration, Ecesis, Reaction, Stabilisation
3) Ecesis, Nudation, Stabilisation, Reaction, Migration
4) Reaction, Nudation, Migration, Ecesis, Stabilisation

FATITT & ITH AT FAFIT HY HTEATHT T HH FH FATE 2
D) faaefietor, varg , wfafsar, 3meame | feudenor
2) faar Ao, yard , eI , wiafear, feudieor
3) 3rearae , faeeor, feedier, wfafear, yaa
1) gfafsrar, faaefievor, yar , 3meade , ferdieor

Ques # :147

Which of the following is the correct sequence of increased emphasis on practical action related to research ?
1) Applied - Pure - Policy - Action
2) Pure - Applied - Policy - Action
3) Action - Applied - Policy - Pure
4) Policy - Pure - Applied - Action

AT & @ ey Gt syagRe GFhAT & ged a0 HT HlT - ATTT DA & 2
l)a@ugord-@\%qﬁ?dq»-mﬁr-m
2) Begrfead - JreTogerd - i - Hhar
3) Ef3Ra - 3o - A - Yearieas
4) S - dearfeas - srgoged - Sk

Ques # :148

The middle infrared rays portion of the electromagnetic is :
1) 0.7 pmto 1.3 um

2) 3umto 10 pm

3) 1.3 umto 3 um

4) 3umto 5 um

fartra graehrr waa # e sravaa fnvon & 3iere:
1) 07 um &1.3 um

2) 3um & 10 um

3) 1.3 um &3 um

4) 3um T 5 um

Ques # :149

Which one of the following is not a correct statement ?
1) GIS is not essential component of IT



2) GIS developed in the early 1960s
3) GIS is a system of hardware, software and procedures
4) GIS is a computer based system

A dFT-TFaTaQ a2

D) sffenfores gaem a7 ga= Senfah &1 s g & 2

2) sitanforen a7 1960 % &ere 3 fashfd ganm

3) stanfores To=T a7 ETEAT , TFedTR (TR T T Ufhad &
4) sitafor T e HBERTor BT ¥

Ques # :150

The altitude of GPS satellite from the centre of the earth is about :
1) 20200 km
2) 22200 km
3) 36200 km
4) 26600 km

HAVSHIT FATAHT YOITelt 3UaTE Y gt & &g & TS oTorstar g
1) 20200 fereft
2) 22200 feraT
3) 36200 feY
4) 26600 fereT





